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Answer all questions.
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— there may be more space than you need.

You must show all your working.
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Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Wrte the following numbers in order of size.
Start with the smallest number.

0.4 0.02 0.37 0.152 0.2

(Total for Question 1 is 1 mark)

2 Write 0.6 as a percentage.

(Total for Question 2 is 1 mark)

3 Here is a list of numbers.

3 5 7 12 15 18 20

From the list, write down a factor of 10

(Total for Question 3 is 1 mark)

4 Write 7829 to the nearest 1000

L..X000. ...

(Total for Question 4 is 1 mark)
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5 (a) Workout 3x5+7

15 +7
)

(b) Work out 23
2 x 2x 2

o R

(c) Write brackets ( ) in this statement to make it correct.

7 x(z + 3): 35

(1)

(Total for Question 5 is 3 marks)

6 Sue has 2 cats.

1 ; ) .
Each cat eats i ofatin of cat food each day. L n each O('OL :j

Sue buys 8 tins of cat food. ] +n = 4 Ao 93

Has Sue bought enough cat food to feed her 2 cats for 14 days?
You must show how you get your answer.

§ tins will ot 16 4y

€5
pe—

(Total for Question 6 is 3 marks)
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7 There are only apple trees, cherry trees, pear trees and plum trees in an orchard.

The pictogram shows information about the numbers of apple trees, cherry trees and
pear trees in the orchard.

Apple 14

Key:
Cherry D 5
represents 4 trees

Pear I:l

Plum L_l 7
There is a total of 30 trees in the orchard.
Complete the pictogram.

(Total for Question 7 is 3 marks)
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~5 =i -3 —f -1 ‘O 1 2 3 -+ 5x
A _1
—2
—3
—4
=5
(a) Write down the coordinates of point 4.
et ] B
(1
(b) On the grid, mark with a cross (X) the point (2, 3)
Label this point B.
(1)
(c) On the grid, draw the line with equation x=—4
(h
(Total for Question 8 is 3 marks)
y
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9 g=9
h=4

Work out the value of 2g + 34

2(a) + 3(%)

.90

(Total for Question 9 is 2 marks)

10 Write down two prime numbers that have a sum of 32

3 and 27

ony 13 ond /7

,,,,,,,,,,,,, i 5

(Total for Question 10 is 2 marks)
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11 Here are some fractions.
s 6 18 10 s
12 8 24 16 20
: . ) 3
One of these fractions is not equivalent to 1
(a) Which fraction?
] O
16
Work out L + 2
(P Wk ot o5 + 7
/ /0O
. + e
12 12
/1
(2)
(Total for Question 11 is 3 marks)
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12 Tom uses his lorry to deliver bricks.

You can use this graph to find the delivery cost for different distances.

100

Delivery
cost (£)

Distance (miles)

For each delivery, there is a fixed charge plus a charge for the distance.
(a) How much is the fixed charge?

£ 1O
(1)

Tom makes two deliveries of bricks.
The distance of one delivery is 20 miles more than the distance of the other delivery.

(b) Work out the difference between the two delivery costs.

(Total for Question 12 is 3 marks)
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13 Azmol, Ryan and Kim each played a game.

Azmol’s score was four times Ryan’s score.
Kim’s score was half of Azmol’s score.

Write down the ratio of Azmol’s score to Ryan’s score to Kim’s score.

2 R S
4;/ > 2

(Total for Question 13 is 2 marks)
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14 The diagram shows quadrilateral ABCD with each of its sides extended.

AB = AD

Show that ABCD is a kite.
Give a reason for each stage of your working.

o

BCﬁ £ 50 OPPO site o.nﬁies ar e e,c'u_d

/q'pc - /050 O..XLS‘.EJ CN o S{:ra}atﬂ.& Li/\(?_ St
to 180°

ﬂéc = j05° Mal_ej lf\ oo qw&d_(}ta_t&fa‘-l o i ¥

o 360°

S'l’l,owm

(Total for Question 14 is 4 marks)
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| 15 Shahid is going to use these instructions to make a fizzy drink.

with 2 parts of lemonade

= ! s
e Mix 5 parts of orange juice
(=4

2

e
Z Shahid thinks that he has 300 m/ of orange juice and 200 m/ of lemonade.
b
E (a) If Shahid is correct, what is the greatest amount of fizzy drink he can make?
=
o
=

300ml of orenge juice = 5 parts

DONOTRITEINT

GOm[ = / /Ja/f
(20 ml = 2 fw“

BOO ™\ oY on 9e +~ 2ol lermonode

Shahid has 300 m/ of orange juice but he only has 160 m/ of lemonade.

(b) Does this affect the greatest amount of fizzy drink he can make?
Give a reason for your answer.

No,heon(jneedi/20m10}}waﬂaa(€

(Total for Question 15 is 4 marks)
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16 Here are two rectangles.

6cm

8cm

Jim says,
“The two rectangles are similar bec

Is Jim correct?
Explain your answer.

o NO L You veed to ultip

10cm

12cm

ause 8 +4=12 and 6 +4=10"

ljb\jmsgalf?ﬁacﬁr

(Ao"o«ou)

(Total for Question 16 is 1 mark)
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17 80 people are asked if they like coffee.
48 of these people are women.
61 of the 80 people like coffee.
8 of the men do net like coffee.
(a) Use this information to complete the frequency tree.
like coffee
men
do not
like coffee
like coffee
(3)
One of the people who like coffee is chosen at random.
(b) Find the probability that this person is a woman.
B
(2)
(Total for Question 17 is 5 marks)
\ 7

13
VA 0 I 0 0 Tanaver »
D =k [~ [~ o 2 A n 1 2 2 A



s N G

18 Food Mart and Jan’s Store sell boxes of the same type of breakfast cereal.

Each shop has a special offer.

O

Food Mart Jan’s Store : %
ot

o3

v

=

.

400g 400¢g i
20% off the plus 30% extra : ;’;
normal price of g
£5 £5

Which box of cereal is the better value for money?
You must show your working. P

food Mart " Jan5  Store
J]O/ of £t5 = sop 107, of oo :q.ojé

207 of S = ¥ 30% of 4oo = 1204

400j .For ilf 5‘20j Por k5

Jodj Lor L JOLrj For L1

e

Jan's Sjrort‘

(Total for Question 18 is 4 marks)
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Rotate shape A 180° about (1, 0)
(Total for Question 19 is 2 marks)
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3 x32
33

20 Work out the value of

7

EANE
3

(Total for Question 20 is 2 marks)

21 v2=u?+ 2as
u=12 a=-3 s5=18

(a) Work out a value of v.

v"": (12)1 + 2(’5)('8)

T

vz gl +2(-54)
viz ey — o8
v = 3%

|1

(2

(b) Make s the subject of v? = u? + 2as

1 2

Vv - w '—ZOLS

(Total for Question 21 is 4 marks)
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-1 22 Abonus of £2100 is shared by 10 people who work for a company.

RSB
Rl
X B

HARKEE,

S R A X e

BRI
/.E-"‘- X i,:/?
et Te st

40% of the bonus is shared equally between 3 managers.
The rest of the bonéls 1s shared equally between 7 salesmen.
o-. )
One of the salesmen says,
“If the bonus is shared equally between all 10 people I will get 25% more money.”

Is the salesman correct?
You must show how you get your answer.

At {he moment :

] 67 o~ iz,o

7 Salesmen oot t1240

| 3 O
711 2% o

F180 each
pige faes

2100 _ 1 210 each
. =
16

Soy o) tiso =i90
257 o} $ig0 =1¢5

| {» Qqual

The salesmen (3 ek correct  £30 S

not 25, ok t1%0

(Total for Question 22 is 5 marks)
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23 It would take 120 minutes to fill a swimming pool using water from 5 taps.

(a) How many minutes will it take to fill the pool if only 3 of the taps are used?

20 x S = 6 OO0 (M}J‘\S Por | ‘EOP)
coo ~ 3

(2)

(b) State one assumption you made in working out your answer to part (a).

bl €S Llow b Che. . senl  rall.........

(Total for Question 23 is 3 marks)

200
24 A plane travels at a speed of 213 miles per hour.

(a) Work out an estimate for the number of seconds the plane takes to travel 1 mile.
—_

IO miles N § moaf
loo amiles in 6o NS

200 miles I % RO secanch s
2 male s L™ 36 econa 3

\ M‘\{ ;r\ \g 32.c’_of\0*3

3)

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

overesimate - | rownded Yne diskonce dowan, ,F

wi[[@tlfua“j'iraﬂ?l!\!olfmaﬂ\ruuiem 1Y Secends
1)

(Total for Question 24 is 4 marks)
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25 Solve the simultaneous equations

Sx+y=21
x—3y=9
575 + 9 = 2/
52 — 1 Sj = 45
/6 y © 24
Yy - by
o - 1.5 = 24
Ly = Z22 .5
e, B B
S
y= ‘-/‘5‘ ..........................

(Total for Question 25 is 3 marks)

19

N T 0 Turm over »
D KR R [ 2 2 A n 1 a 2 A




26 The diagram shows a square ABCD with sides of length 20 cm.
It also shows a semicircle and an arc of a circle.

D

A
20cm
AB is the diameter of the semicircle.
AC is an arc of a circle with centre B.
Show that area of shaded region T
area of square 1
= 3
Totel Areo - 20 X% 20 = 400 cm
‘ .
Area ﬂ)f Sb\adae')« /?Lifd& = 77'(;0)
e ——
Y4
= 400 i [0 07[_ c.m
T
T . -
ﬂrf—‘* a* S{Mi-circfe = 77’(,0)"-: joo 7t G
- 2
2.

S[,\,o_oleal P'e-jioy\, - joorT — SO = Som ge

hwded vegen  _ 2o o T
-’I—’—’_——

o 8
ar e b sgquart ¢ © e

(Total for Question 26 is 4 marks)
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27 Amina has two bags.

In the first bag there are 3 red balls and 7 green balls.
In the second bag there are 5 red balls and 4 green balls.

Amina takes at random a ball from the first bag.
She then takes at random a ball from the second bag.

(a) Complete the probability tree diagram.

first bag second bag

red

red

green

red

green

green

(2)

e B 15
— X — = il
| & 9 7o

O~

L Ea J-—]

(2)

(Total for Question 27 is 4 marks)
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28 The size of each interior angle of a regular polygon is 11 times the size of each exterior angle.

Work out how many sides the polygon has.

//Jc + X
e X
-
= |5
. &
Exktriser wag e = 15 o
2606 - 120 _ 2 ¢4 sides ‘7/' """""""""""
'S 5 (Total for Question 28 is 3 marks)
TOTAL FOR PAPER IS 80 MARKS
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